
Urèete obsah a obvod kruhu, objem a povr
h koule, obsah a objem kulové úseèe. Uva¾ujtejednotkovou kru¾ni
i (kouli), tj. f(x) = √1− x2, √1 + f ′(x) = √ 11−x2Find the length and area of the unit 
ir
le, area and volume of the unit ball. Consider unit
ir
le (ball) with 
enter in the origin.
Skruh = 4 ∫ 10 √1− x2 dx = 4 ∫ 10 1−x

2
√1−x2 Ostr.= 4[x2√1− x2 + 12 ar
sinx

]10 = π (
ri
le)
Lkru¾ni
e = 4 ∫ 10 1√1−x2 dx = 4[ar
sinx℄10 = 2π
Vkoule = 2π ∫ 10 (1− x2) dx = 2π[

x − x
33 ]10 = 43π

Skoule = 4π ∫ 10 √1− x2 1√1−x2 dx = 4π ∫ 10 1 = 4π (ball)Urèete obsah plo
hy pod køivkou:Find area of the region below the 
urve:1) y = x lnx, x ∈ [1, 3℄. [S = −2 + 92 ln 3℄2) y = lnx, x ∈ [2, e℄. [S = 2(1− ln 2)℄Urèete obsah plo
hy ohranièené køivkami:Find area of the region bounded by the following 
urves:3) xy = 6, x + y − 7 = 0. [S = 352 − 6 ln 6℄4) y = ex, y = e−x, x = 1. [S = e + 1
e
− 2℄5) y = 1− (x − 1)2, x + y = 0. [S = 92 ℄6) y = 2

x − 2 , y + x − 5 = 0. [S = 32 − 2 ln 2℄7) y = x − 2, y = −x2. [S = 92 ℄8) y = x2, y2 = x. [S = 13 ℄9) y = 2x, y = x32 . [S = 4℄10) y = tg x, y = 
otgx, y = 0. [S = ln 2℄11) y = 2
x

, 2x + 3y + 8 = 0. [S = 83 − 2 ln 3℄12) y = (1− x)2, y = 1− x2. [S = 13 ℄13) y = x2 − 4x + 3, y = x − 3. [S = 16 ℄14) y2 = x, y = x2 . [S = 43 ℄15) y = x2 + 1, y = 2x2 + x + 1. [S = 43 ℄16) Urèete obsah plo
hy ohranièené køivkou y = −x2 + 4x − 3 a jejími teènami v bode
h T1 = [0,−3℄,
T2 = [3, 0℄. Návod: t1 : y = 4x − 3, t2 : y = −2(x − 3), prùseèík: [ 32 , 3℄. S = ∫ 320 4x − 3 − (x2 + 4x −

− 3) dx + ∫ 332 −2(x − 3)− (−x2 + 4x − 3) dx = 94Urèete délku oblouku køivky na daném intervalu:Stop here, do not 
ontinue with these examples.17) y = x24 −
12 · lnx, x ∈ [1, e℄. [L = e

2+14 ℄18) y = x
32 , x ∈ [0, 1℄. [L = 127 (29 32 − 2 32 )℄19) y = 13(x − 3)√x, mezi prùseèíky s osou x. [L = 2√3℄1



2obr. 1) 1 3 obr. 2) 2 obr. 3) 1 6 obr. 4) 1obr. 5) 3 obr. 6) 3 4 obr. 7) −2 1 obr. 8) 1obr. 9) 2−2 obr. 10)
π4 π2 obr. 11) −1−3 obr. 12) 1obr. 13) 2 3 obr. 14) 4 obr. 15)

−1 obr. 16) 33220) y = 1− ln(
osx), x ∈ [0, π4 ℄. [L = 12 ln 2+√22−√2 = 12 ln(3 + 2√2)℄21) y = √2− x2, x ∈ [0, 1℄. [L = √24 π℄Urèete objem tìlesa vzniklého rota
í køivky kolem osy x:22) y = √ar
sin√

x

x + 1, x ∈ [0, 1℄. Návod: V = π([x ar
sin√

x

x+1 ℄10 − ∫ 10 √
x2(x+1) dx) = π(π2 − 1)23) y = √1 + ar
tgx, x ∈ [0, 1℄. Návod: V = π

∫ 10 (1 + ar
tgx)dx = π(1 + π4 − ln√2)24) y = sinx, x ∈ [0, π℄. Návod: V = ∫

π0 sin2 xdx = π
2225) y = tg x, x ∈ [0, π4 ℄. Návod: V = π

∫ π40 tg2 xdx = π
∫ π40 ( 1
os2 x

− 1) dx = (4−π)π426) y = x2 + 2, x ∈ [−2, 2℄. Návod: V = ∫ 2
−2(x2 + 2)2 dx = 75215 πUrèete povr
h tìlesa vzniklého rota
í køivky kolem osy x:27) y = ex, x ∈ [0, 1℄. Návod: 1 + y′2 = 1 + e2x, S = 2π ∫ 10 ex

√1 + e2x dx
sub ex = t= 2π ∫

e1 1+t
2

√1+t2 = . . .


